
3(3x - 7) = 2y

What is the slope of the following linear 
equation?

3/18Warm Up



Homework Questions?
Page 34, #'s 18-19

Solving using Substitution

Solving using Equivalent Equations





Recap



Method from page 30:

Why ca
n we 

add 

the tw
o equ

ation
s?



Why do you think this "Combination" 
method is also called Elimination?



Combination/Elimination works if we have 
the same coefficient for a variable in BOTH 
equations.





Classwork - 2.3 A and C





Homework
Page 34, #'s 23-26


